

# Mount Olive

## ALL NATURAL\*

\*MINIMALLY PROCESSED, NO ARTIFICIAL INGREDIENTS



MOUNT OLIVE, NEW JERSEY

TO YOU BY THE MAKERS OF FRATELLI BERETTA





#### COPPA

- ALL NATURAL
- NO NITRATES OR NITRITES ADDED

You don't have to wait at the deli counter to get our delicious all natural reduced sodium Coppa. Enjoy our Coppa's tenderness and savory flavor today.

Available Sizes: 3oz | 4oz







#### FINOCCHIONA

- ALL NATURAL
- NO NITRATES OR NITRITES ADDED

Our all natural Finnocchiona includes fennel seeds which adds a delicious element to this mouth watering reduced sodium salami. Perfect for gatherings or a memorable snack.

Available Sizes: 3oz | 4oz | 8oz







#### MILANO SALAMI

- ALL NATURAL
- NO NITRATES OR NITRITES ADDED

A Northern Italian inspired grounded pork meat is all natural and made with reduced sodium. Made with our signature spice mix, Milano Salami is ideal to enjoy as a snack or sandwich cold cut.

Available Sizes: 3oz | 4oz | 8oz

ITEM #	DESCRIPTION	CASE PACK	GTIN	NET WT.	GROSS WT.	CASE DIMENSION	CASE CUBE	ті х ні	CASES/ PALLET
141060	COPPA REDUCED SODIUM NATURAL 3 OZ MO	12/3 OZ.	10073541410604	2.2 LB.	2.25 LB.	10.5"X9.5"X4"	0.23	16 X 13	208
141026	COPPA REDUCED SODIUM NATURAL 4 OZ MO	12/4 OZ.	10073541410260	3 LB.	3.75 LB.	15.5"X10"X4.5"	0.4	16 X 8	132
134560	FINOCCHIONA REDUCED SODIUM NATURAL 3 OZ MO	12/3 OZ.	10073541345609	2.2 LB.	2.25 LB.	10.5"X9.5"X4"	0.23	16 X 13	208
134526	FINOCCHIONA REDUCED SODIUM NATURAL 4 OZ MO	12/4 OZ.	10073541345265	3 LB.	3.75 LB.	15.5"X10"X4.5"	0.4	16 X 8	132
134507	FINOCCHIONA REDUCED SODIUM NATURAL 8 OZ MO	15/8 OZ.	10073541345074	7.5 LB.	8.25 LB.	15.5"X10"X4.5"	0.4	10 X 11	110
134460	MILANO REDUCED SODIUM NATURAL 3 OZ MO	12/3 OZ.	10073541344602	2.2 LB.	2.25 LB.	10.5"X9.5"X4"	0.23	16 X 13	208
134426	MILANO REDUCED SODIUM NATURAL 4 OZ MO	12/4 OZ.	10073541344268	3 LB.	3.75 LB.	15.5"X10"X4.5"	0.4	16 X 8	132
134407	MILANO REDUCED SODIUM NATURAL 8 OZ	15/8 OZ.	10073541344077	7.5 LB.	8.25 LB.	15.5"X10"X4.5"	0.4	10 X 11	110





#### **PROSCIUTTO**

- ALL NATURAL
- MINIMALLY PROCESSED

Our all natural Prosciutto is made from the finest pork leg and aged to perfection. Authentically delicious, our Prosciutto makes the perfect snack.

Available Sizes: 3oz | 4oz







#### SOPPRESSATA

- ALL NATURAL
- NO NITRATES OR NITRITES ADDED

Ground more coarsely than other traditional types of salami, our reduced sodium Soppressata has a more rustic appearance when sliced. A perfect addition to all of your platters and meals.

Available Sizes: 3oz | 4oz | 8oz





#### **ANTIPASTO**

- ALL NATURAL
- NO NITRATES OR NITRITES ADDED

Our all natural Antipasto makes putting together a last minute appetizer platter quick and easy and is a must have for any special gathering.

Available Sizes: 6oz | 12oz

ITEM #	DESCRIPTION	CASE PACK	GTIN	NET WT.	GROSS WT.	CASE DIMENSION	CASE CUBE	ті х ні	CASES/ PALLET
180860	PROSCIUTTO REDUCED SODIUM NATURAL 3 OZ MO	12/3 OZ.	10073541808609	2.2 LB.	2.25 LB.	10.5"X9.5"X4"	0.23	16 X 13	208
180926	PROSCIUTTO NATURAL 4 OZ MO	12/4 OZ.	10073541809262	3 LB.	3.75 LB.	15.5"X10"X4.5"	0.4	16 X 8	132
134360	SOPPRESSATA REDUCED SODIUM NATURAL 3 OZ MO	12/3 OZ.	10073541343605	2.2 LB.	2.25 LB.	10.5"X9.5"X4"	0.23	16 X 13	208
134326	SOPPRESSATA REDUCED SODIUM NATURAL 4 OZ MO	12/4 OZ.	10073541343261	3 LB.	3.75 LB.	15.5"X10"X4.5"	0.4	16 X 8	132
134307	SOPPRESSATA REDUCED SODIUM NATURAL 8 OZ MO	15/8 OZ.	10073541343070	7.5 LB.	8.25 LB.	15.5"X10"X4.5"	0.4	10 X 11	110
134461	ANTIPASTO REDUCED SODIUM NATURAL 6 OZ MO	10/6 OZ.	10073541344619	3.75 LB.	4.5 LB.	15.5"X10"X4.5"	0.4	16 X 8	132
134427	ANTIPASTO REDUCED SODIUM NATURAL 12 OZ MO	10/12 OZ.	10073541344275	7.5 LB.	8.25 LB.	15.5"X10"X4.5"	0.4	16 X 8	132





### PAYING HOMAGE TO OUR ORIGINS

NESTLED in a bucolic area known for its swift streams, fresh air and idyllic climate, Mount Olive, NJ is reminiscent of the pastoral regions of Italy known for curing timeless meats. What better place to balance and blend the time-honored traditions of Fratelli Beretta, masters of salami since 1812, with our state-of-the-art facility.

Because these meats are truly exceptional, we pay homage to this special place by simply naming our premium all natural line, Mount Olive.







